2013 JRC Point Standings

Rd.1 Rd.2 Rd.3 Rd.4 Rd.5
=B BE=Tarmac|Z1& B E=Gravel {8 & B E=Gravel|dtiEE IR E=Gravel | Bt E RE=Tarmac
%=#=1.0 #%#=15 #%=15 %%=15 &%=1.0
Class Point Driver Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2
JN-4
1 45 HIiE BE 3 3 3 8 1 1 1 21 2 i 2 2 i 16
2 44  WHR U 2 2 1 13 3 i 4 1 3 10 11 1 i 2
3 32 [SH FHE 1 1 2 15 2 1 2 i 2 16 R | 3 K
4 14 8K 18 5 4 6 4 12 1 12 1 7 3 ! 4 3 ¢ 10
5 135 FH EF 4 5 4 5 4 i 3 i 5 8.5 R i i
6 12 MW =# 5 i 5 i 4 6 5 | 8 5 6
7 75  &W = 6 8 5 3 6 7 6 45 Ex !
7 75  KIE & 4 i 5 4 75
9 6 BRA = 7 6 8 3 7 1 6 7 1 3
9 6 YT 3 8 9 9 1.5 6 : 9 6 i 45
11 2 ¥EHA & 7 6 7 2 :
12 1.5 ARG Fi 8 7 8 15
13 1 £ BN 8 9 8 1
SH B 9 10 | 9 i 11 8 12§ R 14§
mE BEXER R 7 5 i :
ERI BF R 10 i R 12
L8 - ' 9 { 10 i 10 f
Aki HATANO 10 i 11 11
JKEH JTA : 9 I 111 9
gHE R 10 § 10 & 11 ¢
WT E—ER 11§ 12 & 10 @
ML EKE 12 i 13 i 13 @
1}_1':2]7, ll"agﬁ R : H H

2013/6/19



2013 JRC Point Standings

Rd.1 Rd.2 Rd.3 Rd.4 Rd.5
B B E=Tarmac| &2 B E=Gravel|{8 & & E=Gravel|JtifE& IR E=Gravel |t & & E=Tarmac
%=#=1.0 ®RE=15 ®RE=15 ®RE=15 %%=1.0
Class Point Driver Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2
JN-3
1 37 F&E FE 1 1 3 19 1 1 5 18
2 31 FIl FH 9 9 9 2 4 1 15 2 2 2 16
3 28  tEE F8 4 4 6 5 3 3 2 12 3 3 3 11
4 = 1 1 1 16 R 9 5 4 6 6
5 185 =1¥ £2 3 3 2 9 R 2 2 6 6 1 i 75
6 " GEBH RE 2 2 3 11 R P 7 11 9 i 14}
7 75  BRA EXER 4 5 I 4 75 R 7 i
7 15 EEER &2 i 4 5 4 i 75
9 6 K&t A 5 8 i 5 6 9 8 i 12 i
10 55 =R == 5 5 5 4 R 7 8 10 i 8 i 15
11 45 )| =2 6 10 i 8 45 R :
12 3 XE B 6 6 4 3 =
12 3 O &7 7 12 6 3
12 3 A EN { i 7 i 7 i 9 i 3
15 2 BA & 7 7 7 i 2 12 8 12 13
16 1 L +PoE 8 i 8 8 I 1 R 11
RO %0:% 10 { 10 i 10 i ;
HiE & 10 i 11 11
Bz FIX R 6 ! :
FEEF X R 9 R 10
AR BKE R !
NE A R R
INE MR R
A LiSC R
UMEATY R

2013/6/19



2013 JRC Point Standings

Rd.1 Rd.2 Rd.3 Rd.4 Rd.5
B B E=Tarmac| &2 B E=Gravel|{8 & IR E=Gravel|JtEE IR E=Gravel | Bt E & E=Tarmac
%=#=1.0 %%=15 %%=15 %%#=15 %%=1.0
Class Point Driver Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2 Pos Dayl Day2
JN-2
1 48 Il B 2 2 2 12 2 i 2 3 15 1 1 1 21
2 275 g RAR 6 7 3 4 4 i 4 4 75 2 2 2 16
3 21 X% B2 4 3 5 6 1 i 1 1 21 R
4 215 =B BE 5 6 6 4 3 ! 3 7 10 4 4 5 75
5 17 FHA Z— 3 4 4 6 R i 3 3 3 11
6 16 Hin HIL 1 1 1 16
7 10 Al BF 7 5 7 2 5 | 5 2 8 R 5
8 6 BEE E—H 5 6 6 6
9 45 mF & 6 | 6 6 45
9 45 #¥ BA 6 7 7 45
11 3 K& Bh 7 8 9 3
11 3 #EHE =E5h R 7 7 8 8 3
13 1.5  LW5 VUi 10 i 10 i 10 8 9 8 1.5 R 9
14 1 EERGES 8 i 8 8 i 1 R
fFlE SA 9 9 9 R 5 R 4
JN-1
1 49  HARE Eth 2 3 2 i1 2 i 2 1 17 1 1 1 21
2 32 EE #— 4 5 4 i 5 3 i 3 3 11 2 2 2 16
3 20 FH EHK [ 2 20
4 16 /MR 1 1 1 16 i
5 11 B —4 3 3 3 11
6 7 Wit m= 3 4 3 7
7 2 R 1\ R 2 2
mWH EE R
EH FE R
EK _JER R
=€ R
IR BN R

2013/6/19



2013 JRC Point Standings

Class

Point

Driver

Rd.6
=B

R#=1.2

Pos

Day1

B ME=Tarmac

Day?2

Rd.7
iiEE

R#h=25

Pos

Day1

B E=Gravel

Day2

Rd.8
sz BB

R#=1.0

Pos

Day1

I ME=Tarmac

Day?2

Rd.9
ZH

%R¥=1.0

Pos

Day1

B ME=Tarmac

Day2

JN-4

1

45

HE

BE

44

RE R S

32

BH

#E

14

18K

&

13.5

A H

IESR

12

£H

Fi

1.5

=L

=

1.5

AiE

s
/8

6

AR

=

6

T

7

2

g

=

1.5

Al

75 1

by ey e (2= (X=X BN BT 1= (3] BN A | S)

1

R[5

SH B

BE BEAE

EBN BF

L% #—

Aki HATANO

K H

A

#E

=L d

T

N

i —Ep

£E%

B3

2013/6/19



2013 JRC Point Standings

Class

Point Driver

Rd.6

RER
Z=#=1.2
Pos Dayl

B ME=Tarmac

Day?2

Rd.7

dtiEE
%#=2.5
Pos Dayl

B ME=Gravel

Day2

Rd.8

Bz &
Z¥=1.0
Pos Dayl

I mE=Tarmac

Day?2

Rd.9

450
Z#=1.0
Pos Dayl

B ME=Tarmac

Day2

JN-3

37

LR

Flm

31

&l

75 1

28

#E

7 A

22

e

Al

18.5

= 4F

e

11

Fia

RE

BRE

EAER

%2R 0

AFE

Fa

B1R

-'i=‘-{
=i—

=

%:

AE

7Y
icy

A

7

1 H

EZiN

AR

G

_L_L_L_L_L_L_L
P red e ey e e P S BRI B = (511 EN S ST B
o
o

Tl

+PaER

]

p3IpES
==

ARk

3
I=RI53

=5id

FI3C

FEH X

NA KSR

NN

e

A LEOL

UMEATY

2013/6/19



2013 JRC Point Standings

Rd.6 Rd.7 Rd.8 Rd.9
AR B mE=Tarmac|dt & B E=Gravel|l & ERE=Tarmac| 240 B ME=Tarmac
1%%h=1.2 R%¥=25 %=%¥=1.0 %=%=1.0
Class Point Driver Pos Dayl Day2 Pos Dayl Day?2 Pos Dayl Day2 Pos Dayl Day2
JN-2
1 48 Il B
2 275 M RIE
3 27 X% B2
4 215 =1 BE
5 17 HEH F—
6 16 fih ML
7 10 Al &F
8 6 BEE BE—H
9 45 m%H &
9 45 T BEF
11 3 A4 Bt
11 3 BEM =ik
13 1.5 LS YK
14 1 Hf =
b BA
JN-1
1 49 AR Eth
2 2 BE #B—
3 20 FH Fh
4 16 /INR ®
5 11 B2 —4&
6 7 Wik sz
7 2 R 1\
wH BiE
EH F=E
EK _JER
=B BE
MRk E4Y

2013/6/19



